1. If a rocket nose cone were made of a porous material and a volatile
liquid were forced slowly through the pores during reentry into the
atmosphere, how would the cone surface temperature be affected and
why?  (15%)

2. Consider the steady-state overflow of an
incompressible Newtonian fluid along an inclined
plate of angle 0, as shown in right figure. The
thickness of the liquid film is L. Find the velocity
distribution in the film. (20%)

3. Please sketch the flowchart of a triple-effect evaporator and compare it
with a single-effect evaporator. (10%)
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